Addal247

{E’lml:’l-Z ( Rinaaidg wiat u&'[?l!llﬂ ) (W2et i 101 &l 170)
waet «i.101 #l 130 (€801 2 oy,

(101 | Find out the sentence conveying similar meaning. i
J Mr. Kukee was 00 busy to worry about the risks. '
(A) Mr Kukee was much warried. (B) wMmr Kukee had no time to worry. |
|| (©) Mr Kukee was spending time in woryind. (D) _ Worry had kept Mr. Kukee busy. |
102 | Find out the most similar sentence. -
It Martin doesn’t come, he will be punished |
(A) Martin has 1o come or he will be puriul'lOd- [
(8) M Martin comes, he will be punished.
(C) Unless Martin comes, he will not be punished.
(D) _Martin will not come otherwise he will be punished
103 | Find oul the sentence having the most appropfiate punctuations.
(&) Only from a little girl 1" he growled. (B) "Only from a little girl I" he growled. i
(C) "Only from a little girl I, he growled. (D) "Only from a littie gin~ he growled. |
104 | Find out the correct passive, = T 1
Everybody thought that Priyam was clever.
(A) That Priyam was clever was thought by everybody.
(B) Priyam was thought that he was clever.
(C) Priyam was clever was thought by everybody.
(D) It was thought by everybody that Priyam was clever. .
105 | Find out the most appropriate answer for underlined words as per instruction given in the brackets |
after that underlined words. ;
Eight children were standing gagerly (synonym) on the track of running race With the sound of |
whistie. all the children started runming gwiftly (antonym)
Keenly - enthusiastic - anxious - ) ‘
(A giuggishly ®)  ow ©)  peavity ) (D) interestingly - lazity T
106 | Arrange the jumbled parts to make a meaningful sentence. |
from the counters / told 1o return / turned back / the following day / people were / and
1 2 3 a4 5 6
(A) 315642 (B) 451632 (C) 264135 (D) 531624
107 | Find out the correct sentence.

{A) | picked up the pen and put in my pocket.
(B) | picked up the pen and | putin my pocket.
(C) | picked up the pen and put it in my pocket.
(D) | picked the pen up and put in my pocket.

108 | Read the stanza and answer the question.
River, river | Swelling river ! On you rush through rough and, smooth;
Louder, faster, brawling, leaping,
Over rocks, by rose-banks, sweeping like impetuous youth.
Find out the words describing the movement of the river.
(A) rough and smooth (8) brawling and leaping
| (C) _over rocks P - B . -
109 | Find out the correct usage. T
(A) Hymmmllmﬂdwﬁmm. (B) nmaskadm.lmdloldyml.
(C) If youasked me, | wouldhaveteliyou. () |fyouasskedme.|wouldtellyou. = |
110 | Complete the sentence with the must appropriate response for given situation.

o e ol. Abdul wants to participste initbecause _________
(B) Abdul should make people laugh.

(A)  Abdul could make pecple laugh
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T T Read the passage 'uﬁmﬁ_‘_““_mmpﬂml ot (Que. NO.111 and 112)
pswich ar
| | - mdhu.mmmm‘nmmmmywmmm,hagbggn'lﬂwf‘maﬂ
Mgmmmmwm

| mﬁ;‘;‘mwmmm be named for legal reasons. appeared before South East Suffolk Magistrates
| : Court ,-as!aldlv'l‘"" magistrates heard that her 14 yg.rddwﬂ was currently on holiday in Spain
| Th,m,mm“ﬁmmm mwmm"dmaU&-mmMe style.
! ch..m.ndm-WDNGCmWmasmwwwﬁdﬂﬁhﬂmlommhﬂwa

-Tg,m,,ﬂqmnmnﬂp.'mm,

W iy T the second 1o be dealt with by South East Suffolk magistrates recently Last month a 37T year 1
oid was fined £50 after her son had attended just 16 out of 182 sessions.

| And the cases follow national concern after an Oxforgshire mother was jailed for allowing her children to miss
school

i 11 | wmmmuﬁuﬂmlsnﬂm‘?

(A) The name of the mother is not given in the passage. (B) The name of the mother was Ipswich
, (C) The age of the mother is 36. (@

This is not the only such case.
I 112 | For child's absence, a lady in Oxfordshire

|| (W) waesfined £400 (B) wasfined €50,  (C) was jailed. Py, weeargeercs
l |
|

Read the passage and select the most appropriate answer: ( Que. No.113 and 114)
Thus. Kach began to live with Shukracharya Because of his keen devotion and good service the won the
| tavouwr of Shukracharya Kach was young. handsome and very inteligent and no wonder Devayani fell in love with
| him at fust sight. But Kach was a student and he could nol respond to her love ANl the same Kach liked her
{ | conswered her a friend. He gathered flowers and fruits for her and helped her in her household duties. Sometimes
'1 )Mmumabunm,mwmﬁmumeymanddancodlogomw.|noounaoltnno\heAaurs
‘|mmeachw-ssuyionthSMr.dnry-,T?nydtdnotwantmosocre(olrevm’ngdqadpeoplelobe
! known 10 the Devs and. therefore. they decided to remove Kach from Shukracharya's hermitage for good. That
|‘ 1mjdoﬁyoembykiﬁngrwn,
| 113 Wrechof the followdng is not true for Kach ?
| (A) Handsome

| | (8) He 0wl ot want the secret of reviving dead peopie 1o be known to the Devs
| (C) Feil n love with Dervyar

| (D)  Helped Devyam
| 114 Why did Asurs want 10 kill kach ?
{A) Because ha loved Devyani

| (8) Because Devyam loved him

i | (lgi m&ocm&urs“ﬁw-\tbivsiokmmmdbnnﬂngl?udoodbacklohfe
G Sometimes would wander about ;

| 1157 Select the most appropriate ‘“"wmm.mmm"‘.."f"’“““"i” merirmoncdmneed woeher
| [ Secretary . Good Morning, Sir.

| | Boss: Good moring. Will you please translate this letter ? It's urgent.
| | (A} Secretary greets the boss. The boss greels the

secretary and

that it is urgent. requests her to translate that letter. He adds

. | (B) Secretary greeted the boss. The boss greetsd the :

| +| added that it is urgent. secretary and requested her to translate that letter. He
| IC)  Secretary greeted the boss. The boss greeled the .

| , added that it is urgent secretary and requested her to translate this letter. He
| ©)

Secretary greeted the boss. The boss greeled the
. . added that it was urgent. secretary and requested her 1o transiate that letter. He
118 | Select the most appropnate reporting of the given diaigag

| | Rohan: Can | spaak to Twisha, please
. Srnnubm.immy.smunotm.lﬂhoiwim?

| (A)

| | Wmsmwmwkme' Smetiben spologized and sdded that Twishe was not in
l' | - m&nﬁmwumm@mme_mmmmm that Twishe was not in
! !. (C‘ mm&mﬂlﬁhTﬁ'mwwmm“T““mmm
**~lwmsmmm S SN P A ST v
TAT (SEC)-18 (ENG)G Pevootie =
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“Belect the Most appropriately edited passage:

(A) Domumwm..m.,m,n7mu-*""‘mdmdth.m His practice is highest. Morsover,
he i considered the noblest doctor of the 1%

(8) Do you know who that man is 7 He is 8 WeH-knoun doctor of the town His practice is the highest.
Mareover. he Is considered the noblest doctor of the town,

(©) Do you know who that man is 7 He is 8 well-known docior of the town. His practice is highest. Moreover,
he is considered the most noblest doctor of the town.

(D) mmhmmlmwu?mm-wﬂ-*mmdlmm.H-prmuilhw.m.
he s considered the noblest doctor of the 10w

Seiect the most appropnate option to change the voIce.

Why was is it removed ? Permission is not given for such silly lasks.

(A) Why are you removed it 7 We don' give permission for such silly tasks

(8) Why do you remove it 7 We don't give permission for such silly tasks.

(C) Why did yOu remove it 7 We are not give permission for such silly tasks

(D) Why did you remowve it ? We uontgiapog'glgiogfnr such silly tasks.

— S— —_——

119

the mos! appropriate utterance in the given situation —
mwmﬂﬂnpolieomlgdmgmnugurandh.hlmIolheum.l‘tdhwfu'w.Thawmm'
questions of the lawyer. Read the answers carefully and frame the questions using What, When, Where, Why
and How asked by the lawyer.

Lawyer : _ 1

The Manager : | reached there at 11 o'clock.

Lawyer . 2

The Manager . | armived by car,
(A) 1. When did you reach there 7 2. How did you go there 7

(B) 1. How did you go there 7 2. When did you reach there ?
(C) 1. When you reach there 7 2. How you go there 7
(D) 1. How do you go there 7 2. When do you reach there ?

120

Find the most appropriate expressions 1o complete the dialogues.
Soha  Hi, Tapan. How are you ?
Tapan | am fine. :
Soha ‘| am fne too. Thank you. By the way, meel my cousin Shivan
Tapan - Hello Shivani, 2
Shivani : Nice 10 meet you 100.
Tapan : Where are you from, Shivani ?
Shivani : I'm from Raipur.

Tapan : 3
Shivani : Raipur, Chhattisgarh
(A) 1. How about you ? 2. nice to meet you. 3. Pardon.
(8) 1. Pardon 2. nice to meet you 3. How about you ?
(C) 1. nice 10 meet you 2. How about you ? 3. Pardon.
(D) 1. How about you ? 2. Pardon " 3. nice to meet you

121

e

TAT

Study the following data and select the most appropriate answer:
Data of number of PhDs awarded by the Universi

YEAR | ARTS | SCIENGE | COMMERCE | TOTAL |
:::gg?-zom ﬂ T2 2 125
-2002 | 112 25 181
2003-2004 | 89 | g7 — 30 206
ﬁm gg 75 18 183
__—'———2005-—-—4 64 14 120
TOTAL | 286 | 410 119

Wdhmwﬁ'smmwmﬁwmdymm7

(A)  Thisis a bar graph showing PhDs awarded to gdents during year 2000-2001 to 2007-200g
(B) Thisis a tabular data showing PhDs awardeq 1, srudents. ‘
(C) Tﬁgh-w~mdﬂ.mm1hmr_m'

L(D) _This is tabular data showing PhDs awarded 1o g,,gents during year 2000-2001 to 2007-200g
Awarded to students dur

s \h_‘.
(SECr18 ENG)G Page 11 of 16 [CONTINUE
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== 1 is missing IN the sentence. T d the word are indicated by fhe pairs of words-one |

from muncoandthemhormsmngm:g place and the word are indicated by the pairs of words-one |

f you visit any hil 30N in MONSEON, you will fing 1ush green o
hill station- i

(A meadows (B)  visit-meadows (C) find-meadows (D) ‘geamnen

123

Find out the comect reported speech,
Mitesh said to the Doy.” Why will you not com
@ with me 7"
(A) Mitesh asked the boy why he would not go with him.
(B) Mitesh asked the boy why would he not come with me.
() Mwmmmmrhmldmmgmmmm.
(D) _Mitesh asked the boy why you would not come with him.

124

mmm’m: SiNg the language function * showing result”
(A) Because he wanted to accommodate more guests.

(B) So that he could accommodate more guests.

(C) But could not accommodate more Quests.

(D) Which could accommodate more guests,

125

mwdsplechinﬁneﬁfw‘ewatchedinwysdfasdnaﬂonlhissl f
‘Felling of the Banyan tree’ is . SRS
(A) Apostrophe (B) Oxymoron (C) Tautology (D) Metaphor

126

Fill in the blanks with the proper forms of verbs.

The GW""’“‘{“‘ of Gujarat o provide clean drinking water to all remote villages in
2016 AD. Most of the villages electricity by 2019 AD. The Government a massive drive ' |
Clean Gujarat, Green Gujaral.’ since 2015 AD. More classrooms in the villages under the SSA
scheme in 2017 AD_

(A) decided, will have been provided, has launched, were built

(B) is deciding, will have been provided. have launched, will be built.
(C) decided, have been provided, has launched, buiit

(D) decided, will have been provided, had launched, are built

127

Select the most appropriate option to complete the sentence.

Do you know the boy ;

(A) Who mother died in an accident (B) Whose mother died in an accident.
(C) Whose mother dies in an accident. (D) Who mother dies in an accident ?

128

Select the most appropriate option to complete the sentence.

My teacher asked my friend .
(A) That her father would come to school in the parents’ meet.
(B) If his father will come to school in the parents’ meet.

(C) If her father would come to school in the parents’ meet.
(D) If nis father is going to come to school in the parents’ meet.

129

Select the most appropriate option to complete the sentence.
the doer is not important.
(B) Passive voice is using when

(A) Passive voice is uses when q
(C) Passivevoiceisusedwhen (D) Passive voice used when

130

. change the voice:
Select the most appropriate option to
We seil used books. We shall give beftef price of your old mj
mm_mpﬂcldyouroldboohuginnbym-

}:; ummmm.mnﬂ““’”“’ﬂdbmmmwm-

(©) ummﬂwdm.mwﬂdmmnm“wanwu

(D) Used books sokd here. Better price o YOr ald books given by us. ]
Page 12 of 16 [CONTINUE |
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f’ 131 T in a derse class-room, jearmers find it aifMicult 10 Speak and write good Engiish and often 13pse in 10 |
|
|
|
f

their mother-tongue because ...
(A) They are not motivated to leam. -‘
(B) They 0o not have the ability to learn ENglish. ;
(C) They are slow learners.

(D) The lack of enough competence and the Structure of the two language are different.
132 | Grammar should be taught by .. T

(A) Enabling learners to practice in contex! (B) Asking students to learn rules.
(C) _Making leamers to write assignments. (D) _Giving clear examples.

“133 | The speaking skill in a language teaching c/ass-room can be developed through ...

(A) Engaging in small talk as confident aggressive learers.
Enabling learner activities with a focus on conversation skill leading to communicative

) competency.
(C) Group activities where leaers can talk in whichever language they would like to talk.

V_P'D] Emotionally connecting with leamers.
s}

Writing is called creative .

- (B) A (C) _Study (D) None

135 _ Script is different from Indian script.

(A) Urdu (B) Gujarati (C) English (D) Hindi
136 | A wide vaniety of exercises, activities or devices used in the language classroom, is known as ...

Teaching

(A) Method (B) Tochnique (C) Approach (D) Sﬂm
137 | Students sing a song " Hop a little, jump a little, one, two, three, ...

and doing the same act as they sing in song,” This methodology is known as ...

(A) Communicative Language Teaching (B) Total Physical Response (TPR)

(C) Reading & Doing Approach (D) Leamning By Doing Approach

138 | A teacher in Language classroom asked his students fo translate the Spanish sentences into their
mother tongue. He is using which of the given method 7

(A) Oral Writing Method (8) Grammar Translation Method

| (C) Direct Method (D) Deductive Method

139 | A teacher asked students to divide into groups and make fine questions about vocabulary from the
previous unit, He asked to exchange their questions with other group and they to answer of their

questions.

In above activity, which teaching method is used by the teacher 7
(A) Grammar Translation Method (B) Communication Language Teaching
(C) Direct Method (D) Oral Approach

140 | How will a teacher teach a writing skill to the class a1 the level best 7

(A) Through dictation. i

(B) By brainstorming and by asking students to write in their own words.
(C) By asking students to write neatly.

(D) By asking students to leam articles and rewrite them.

141 | REad the two sentences given below.

1. The lizard is the fly.

2. The fy s the lizard.
A teacher can use this example 10 explain thgy .

(A) There is no difference in these two sentances ..ause both have the same words.
(B)  When subject and object change positions, gne o aning of the sentence changes.

{g} rh.,“mwd:pmﬂ speech.
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“Select the most appropriate sentence

(A} He was born at 19" October, 1920 (B) He was bom on 19" October, 1920.

(C) He was born in 19" October 1920 (D) He was born while 19™ October, 1920

[ Select the most appropriate sentence - !

Find out the correct sentence

(A) She is s0 clever that she knows nothing

(B) She is so clever that she knowy overythng

(C) She is 80 clover that she does not know anything
(D) She is 0 clever that she does nol know something

(A) This is the boy which wanted 10 meet you yesterday s
(B) This s the boy whom wanted to meet you yesterday
(C) This s the boy who wants to meet you yesterday.

(D) This is the boy who wanted to meet you yesterday —

145

Select the most appropriate sentence
(A) My mother has gone 1o the market for 2 hours.
(B) My mother has gone 1o the market since 2 hours
(C) My mother has gone to the market yet " hours.
(D) MmehasmtoMmmmtorzm

) ) -

146

Seiect the most appropriate sentence

(A) Her mother is happy with him because he always helps her.
(B) Her mother is happy with him because he always help her.

(C) Her mother is happy with him because he never heips her

(D) Her mother is happy with him because he rarely holpa her

147

Fill in the blank mthlhorrmstappfopdateopﬁon
His mother has been waiting for a long time. He has

(A) come yet (B) has already come  (C) not come yet (D) has just come
148 | Fill in the blank with the most appropriate option =

His mother scolded her because he threw a slone the well.

(A) in (B) with (C) into (n; on
149 | Select the nearest meaning : '

There would be traps, tricks to waylay the adventurer, anddwemlomlommlirnormw;m

true quest.

(A) ignite (B) stop 7 -(Cl_fmd 7 (D) redirect
150 | Select the nearest meaning :

Whﬂcpenﬁdmekuﬁldunabandofﬂdw.lmuthockadlodimaam, )
1A jewe (B) dead body (C) carten (D) sultcase

Sdoum-mmtwopqummontowmummmmumm
She can eat gix bananas at a time.

152

(A) How many bananas can you eat. (B) How much bananas can you eat ?
(C) mmym“nymﬂt'? D) Howmmybmwouc-nm?
m“mwmwmmﬂﬁhwmm:nmuw

We visited our native in last decade

(B) When do you visit your Natve 7

(A) When did you visit your native 7
(D) Where did you visit yOUr natjy, -

| (C)  Why did you visit your your natve 7
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|
| (A)_ < (B) (C) s
. ___*___.______________F__
754 | How wmany diphthongs ; are there in English ? e JB)
AL 5. ®) 9 __(©) s
~—'—’)r-.,‘.rrm;h s Audio teacmng aids 7 s ST - . VRS
E; | (A] Tﬁmlﬂon (B] Text m (C} DVD )
' \ D) Radio
___—-—P'___-'—-——__h______ ok . =
i 5'5TW“°“ s Aﬂdlﬂn Visual te; teaching aids ? — ©
|(B) TelevEOl ___ (8) Rado _ (C) Gramophone (D) Intenret
| 15? Gomma means B mﬂlanca 's e ————
|| () comees (8) notcomplete __(C) _divided (D) none
(158 | What is “What is the full form of & CLT7? B
(A) Correction in Language Training (B) Condition in Language Teaching |
(C}__Pommumcm'““ Language Teaching (D) Communication Language Training
159 Wha( 1s basiC premise in Oon'\mumcau-ve appmach ? - 1
LA Translation (8) Oonlextualizaﬂon on  (C) Competition (D) Memonzation
760 | Who says that the children are born with a natural bio biologically conditioned predisposition 1o acquire the
- language ? .
| (A) Chomsky _(B) Skinner _ (C) Dell Hymes (D) None
161 | Which activity will you organize for communicative competence ? '
| (W) Sienlreadng _ (B) Singingasong _ (C) Telingastory (D) Watching apicture
162 | Find out the one word for given description.
An instrument for measuring angles.
(A) Protractor (B) Scale ' (C) Compass (D) Setsquare
163 | Fill in the blank with the most appropnate option. -
The party had become so __ loud that the neighbours were forced to call the police.
(A) vigorously _ _(B) interestingly (CRregiously  (0) fudously
164 | Fill in the blanks with the most proper answer.
The police suspect hm of stolen goods.
|__|(A) toying-soid __ (B) lryingQuggew (CIr g O WysTed
| 165 | Fill in the blank with the most appropriate option.
Virat Kohli is the _ paid cncketer in Indian cricket team.
(A) highly (B) highest (C) high (D) most highly
166 | Find out the phrase for undertined words.
He was facing troubles in his business.
(A) in deep thought (B) in deep breath (C) indeepwaters (D) going off deep end
167 | Find out the best option for the blank.
He bought his wife ______ for their wedding anniversary.
(A) agold ring _(B) _a golden ring (C) aring gold (D) aring of golden
168 | Which can be the right answer nswer for the question beginning with "How many’ ?
(A) There was more pressure on the labourers on that day.
(B) We had a few option left to try out.
(C) He ess bother about his result.
was | bott
| (D)  There was a little waters 'f'f'_i—a___________ e ]
169 | Find out the opposite - Interesting
L e (5)_misintoresing () _Tiing (0) disinteresting
1170 | Find ov out the most T correct option
‘I Chandanj was overflowing J:t: bh:rca:u e
l ::} Once again she Was ::‘w M
) She was fed with no care: -
Miyan
i{c; She was now free framd.:bby yan's jail,
-1 (D) Shewas tmda_tg'_jj,”f'_?-"-—ﬂ'— T
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